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Ritp://farbe i tu-berlin.de/ CED3ICED AL ONA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

LABJNDu3 standard lightnessl*

Ya=Yw - nc=100,

"L agaNDu3=IN(A1n+AnY)(AgnAon)  (Ya/100<Y<=Y,o)
I* L aganDu3 =IN(A 10tA2 )/ (A2iAon) - (X=YIYL)
1 (3,6)=327* ,(18)=744.1* ,y(90)=1158

log[I*/I* ;]=0, m,=0,33
L* (=49, I* =744

4
:*90=1157,95, A= M, A5, =0,0699, ¢=0,67
*1g=743,79, A=C (M1, A,=0,0038 -
I*5,6=327,120%,=7 | 279 Y18 . agr?g"ga"m

n |>h 1

»n=0.2  Dxw=5

LABJINDu3
tristimulus value difference
YoemYw  nc=100,

I* L ABINDU3 =IN(A 10+ A2RY)/(A2nAon)  (Ynd/100<Y<=Yoo)
I* L ABINDUa=IN(A 10t A2) (A2 Aon) - (X=YTYy)
dY:Aon(A 1n+A2nY):A0n(A1n+A2UX) XZY/Yu
Aonpss=L5, Aona=1,0, see CIE 230:2019

oo247=0 08 el Anr0.0673 £0.6% =
g‘“‘f‘?ﬁ 08, rﬁfn 0,011, UAV 02,0088 application

dY; =002 Y,=18 0,08 1
0, = %=1

xN=0,2 Xw=5

log (AY/Y) LABJINDU3

_ tristimulus value sensitivity
S=@vr) YotV nc=100
I* L ABINDU3 =IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yyo)

I* L ABINDUa=IN(A 10t A2) (A2 Aon) - (X=YTYy)
AYIY=Por(ArH Ao )Y =Ag (At AsX)/Y

(dY/Yp=0,0040, Ay=1,0, A 70,0699, ¢=0,67
(dY/Y)g=0 0045, A=0,011, A4,=0,0038
(dY/Y} 0,070 Y,=18, dY=0,08

application

I* ;=744 dY,=0,08 dY,/Y,=0, 00451
.m—l

xN=0,2 Xw=5

LABJINDu3
tristimulus value contrast
Yoc=Yw nc=100
I* L ABINDU3 =IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yyo)
L aganDus=IN(A 10+ A2X)/(AgAon) - (X=Y1Yy)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]
(Y/dY}=249,21, Ay=1,0, Ap,=0,0699, ¢=0,67
(Y/dY)g=221,29, A70,011, A=0,0038
I* | EVA B ¥%G201084Yy(d 18- AXEO, 0,8
log(Y/dY)=2,34 m;=0,13 . = ==

C,=(Y/AY)

range
%=1

1
1
1
1 application
1
1
T
L]

Xw=5

LABJNDuS3 relative standard lightnessl*/I*
I Yoc=Yw - nc=100,

1 LagaNDuz =IN(A1ntA2nY)(AgnAon)  (Ynd/100<Y<=Y,o)
1* | ABaNDu3 TIN(A 10+A2)/ (A2pA0n)  (X=Y1Yy)
1*N(3,6)=327 % ,(18)=744 [* y(90)=1158

¥ gl =1,55, Ap=1,0, Ap,=0,0699, ¢=0,67

I g/l =1,00, A,=0.011, 4,=0,0038

I*3,d1*y=0,43,%=743,79 Y=18

log[i*/I* J=0, m,=0,33

L* =49, 1% =744

log(AY/AY,) LABJNDu3 relative

tristimulus value difference
NNy Yoc=Yw - nc=100,
11 ABINDUB =IN(A 17 +A2RY)/(A2rAon)  (Ynd/100<Y<=Yoo)
1L ABINDU3 =IN(A 10 +A2)(A2uAon)  (X=YTYL)
dY/dY =(A1+A X (A1 +AY)
dYeg/dY,=4,43, Ay=1,0, Ay=0,0699, ¢=0,67
dY;g/dY,=1,00, A,=0,011, A;=0,0038
dY3 ¢dY,=0,31 Y,=18, dY;=0,08 )
p
0§ dY,/Y,=0,0045 ,/’/

log [(AY/Y) 1 (AYIY),]

XN=0,2 Xw=5

LABJNDuS relative

tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc
1L ABINDU3 =IN(A 17 +A2RY)/(ArAon) - (Ynd/100<Y<=Yoo)
11 ABINDU3 =IN(A 10 tA2) (A2 Aon)  (X=YTYL)
(dY/YY(AYIV)=[(A 1+ A )X (A 17+AZ0)
(@Y/Y)o/(dYN=0,88, Ay=1,0, Ay, =0,0699, ¢=0,67
(dY/Y)g/(dY/Y)=1.00, A=0,011, /5,=0,0038
@YYy g(dY/YV)=1,24 Y, =18, dY=0,08

EES
log[(dY/Y)(dY/Y) =0, m=-0,13 1 .
I* =744 dY,=0,08 dY,/Y,=0,0045 ?g’npg','ga""”
%=1

log [(Y/AY) 1 (YAY),]

XN=0,2 Xw=5

LABJNDuS relative

tistimulus value contrast
ClCr=(YIAY(YIAY)y . =y, - =100

1L ABINDU =IN(A 17 A2 Y)/(A2rAon)  (Ynd/100<Y<=Yoo)

11 ABINDUS =IN(A 1n+A2)(A2uAon)  (X=YTYL)

(YIYY(YIY) =X (At AN (A 15+A2y)
(YIAY}o(YIdY)=1,12, Ay=1.0, Ay, =0,0699, ¢=0,67
(Y/dY)g/(Y/dY)=1.00, A=0,011, /4,=0,0038
(Y/dY} (Y/dY)=0,64 Y, =18, dY=0,08
log[(Y/dYY(Y/dY),]=0, m,=0,13
* =744 dY,=0,08 Y,/dY~ Z¢1 ~

/ 1 application
1 range

Iy =1
il
XN=0,2 Xw=5

LABJNDu3 standard lightnessL*

YoeL*w -~ nc=100

L* | ABINDU3=IN(A 15+A2nY)/(A2rAon)  (Ynd/100<Y<=Y,0)
L* 1 ABaNDus=IN(A 10+ A2 X) (Ao Aon)  (X=YTY)
L*\(3,6)=327 L* ,(18)=744,L*\(90)=1158
log[L* /L* J=0, m,=0,33
L* =49, L* =744

4
L*6¢=1157,95, A= 10, A=0,0§99, ¢=0,67
L*1g743,79, A~ W11, A,=0,4038
L*36=327,121%= | B79 %= 18|
,' 5l
XN=0,2  Ixy=5

application
range

CED31-1A

logAY) LABJINDu3
AY tristimulus value difference

Y=L w nc=100,
L*Laganpua=IN(A1n+A2nY)/(A2rA0n)  (Yac/100<Y<=Y,o)
L*Laganpua=IN(A1ntA2X)/(A2Aon)  (X=YTYy)
dv:AOn(A1n+A2nY)=A0n(A1n+A2uX) X:YIYU
Aonpes=1,5, Aon a=1,0, see CIE 230:2019

o @@Q "6155A2 0095!52—067'""
gQWF 08 rﬁfn 0,011, A-0,0088 application
il e Y2180 0,08 1
3,6=0,02 8, 9, o1
XN=0,2 Xw=5

CED31-3A

log (AY/Y) LABJINDU3

tristimulus value sensitivi
S=(@AYH) YomL*w =100 4

nc’
L*Laganpua=IN(A1ntA2nY)/(A2nA0n)  (Yac/100<Y<=Yqo)
L*Laganpua=IN(A1ntA2X)/(A2iAon)  (x=YTYy)
AYIY=Por(A it AgaY)Y=Ag (A it AgX)/Y
(dY/Y}5=0,0040, A;=1,0, Ay, =0,0699, ¢=0,67
(dY/Y)g=0.0045, A =0,011, A4,=0,0038
(dY/Y} =0,0970 Y, =18, dY=0,08

NG application
log(dY/Y)}F-2,34 m=-0,Tu3 ~ _
L* =744 dY,=0,08 dY,/Y,=0, 0045

=l
XN=0,2 Xw=5

CED31-5A

log (Y/AY) LABJINDu3
tristimulus value contrast
C=(YIAY) M s
L*Laganpua=IN(A1n+A2nY)/(A2rA0n) - (Yac/100<Y<=Y,o)
L*Laganpua=IN(A1ntA2X)/(A2iAon)  (X=YTYy)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]
(Y/dY}g=249,21, A=1,0, Ay =0,0699, ¢=0,67
(Y/dY)g=221.20, A =0,011, A4,~0,0038
L*SMWIMYMWO LU

application

I
1
1
1
1 range

CED31-7A
CED31-7N

LABJNDuS3 relative standard lightnessL*/L*

LHIL* Yoc=L*w - nc=100,

L* LaBINDu3=IN(A 1n+A2nY)/(AorAon)  (Ynd/100<Y<=Y, ()
L* aaNDuz=IN(A1rtA2X)/(AoAgn)  (X=Y/Yy)
L*\(3,6)=327,L*(18)=744,L*\\(90)=1158

L*gg/L* =1,55, Ay=1,0, Ay =0,0699, ¢=0,67

L*1g/L* 1,00, A=0.011, A4,~0,0038

L*3dL*,=0,43,L*=743,79 Y=18

log[L*/L* =0, m,=0,33

L* =49, L% ;=744

CED31-2A

log(AY/AY,) LABJNDu3 relative
AYIAY tristimulus value difference
u YocrL*w - nc=100,

L*LaganDua=IN(A1n+A2Y)(A2rAon) - (Yad 100<Y<=Yyo)
L1 aganpua=IN(A 1ntA20X)/(A2iAon) - (X=YTYy)
dY/dY =(A1+A X (A1 +AY)

dYeg/dY,=4,43, Ay=1,0, Ay =0,0699, ¢=0,67

dY;g/dY,=1,00, A 70,011, 4,=0,0038

d¥s,¢dY,=0,31 Y,=18 dY=0,08 7

.
08 dY/Y,=0, 0045 /

application
nge

=1

CED31-4A
log [(AY/Y) | (AYIY),] LABJNDuS relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
L* L aganDua=IN(A1ntA2Y)(A2rAon) - (Yad/100<Y<=Yyo)
L1 aganpua=IN(A 1ntA2X)(A2uAon) - (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
(@Y/Y)o(dY/Y)=0,88, Ay=1,0, Ay, =0,0699, ¢=0,67
(dY/Y)g/(dY/Y)=.00, A=0,011, /5,=0,0038
@YYy g(dY/YV)=1,24 Y, =18, dY=0,08

S
10g[(dY/Y)(dY/Y),]=0, m=-0,13 1
L* =744 dY,=0,08 dY,/Y,=0,0045,
%=1
XNn=0,2 Xw=5

CED31-6A
log [(Y/AY) I (YIAY),] LABJINDu3 relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nc™

L*LaganDua=IN(A1ntA2Y)(A2rAon) - (Yad 100<Y<=Yyo)

L1 aganpuz=IN(A1ntA2X) (A2yAon) - (X=YTYy)

(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)
(YIAY}o(YIdY)=1,12, Ay=1.0, Ay, =0,0699, ¢=0,67
(Y/dY)g/(Y/dY)=1,00, A=0,011, /5,=0,0038
(Y/dY}(Y/dY)=0,64 Y, =18, dY=0,08

log[(Y/dY)(Y/dY),]=0, m=0,13

CED31-8A

TUB-test chart CED3; LABINDuU3*(Y) & L*(Y), Yh=(Y&L*) wnc x=0,66, with more data
Absolute and relatlve lightness, sensmwty and contragt=Ab5, An=0, 011 Agn—O 0038, /&u—o 06
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